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PREVIOUS YEAR QUESTIONS
ORGANISING
Q.1 Name the function of management which coordinates the physical, financial and human resources and establishes productive relations among them for achievement of specific goals.
Ans. Organising
Q.2 Ramdas, aged 49 is working in an aviation company. He is the senior most employee in his division. He is even senior to the division manager, Kanaputti. Ramdas is considered one of the most committed, capable and hard-working employees. As a result of his abilities and seniority, he generally received the work assignments of his choice. Although there was no formal designation of various special projects assigned to Ramdas, he handled them as a matter of routine. A problem developed when an able and intelligent person Nagarjuna, aged 33, was appointed by Kanaputti. Nagarjuna's previous three years experience in the closely related work, made it possible for him to catch on to the routine work of his new job more rapidly than was customary for a new employee. On several occasions, Kanaputti noticed the tension developing between the two employees. However, he didn't want to get involved in their personal issues as long as the work was completed effectively and efficiently by them. One day, the tension between them reached the boiling point and Ramdas complained to Kanaputti stating that his duties were being largely taken over by Nagarjuna. Kanaputti issued the order stating the clear allocation of the jobs and related duties between the two. He further clarified the working relationship between them by specifying who was to report to whom. This helped in reducing the workload, enhancing productivity and removing ambiguity.
(i) Identify and state the step of organising process which has not been carried out properly and contributed to this problem. 
(ii) State the two steps of the organising process which have been taken by Kanaputti to respond to the complaint of Ramdas.
(iii) Also state two points of importance of organising as reflected in the above case. 
Ans. (i) Assignment of duties: Defining the work of different job positions and allotting the work according to the skills of the employees.
(ii) Kanaputti responded to the complaint of Ramdas by 
(a) Assigning the duties
(b) Establishing reporting relationship
(iii) (a) Clarify in working relationship
(b) Benefits of specialisation
(c) Effective administration
Q.3 Zamon Ltd. is manufacturer of electronics goods based in Pune. On one hand it deals in items like books, music instrument, videotapes etc., and on the other hand it deals in laptops and mobile phones. The company had a functional structure with separate heads for production, marketing and finance. All the functional heads were looking after the products, but at times their activities overlapped. This led to problems related to coordination and inter-departmental conflicts. To facilitate specialization Ramit, the CEO of the company decided to group books, music instrument, videotapes etc. under 'Media' and laptops and mobile phones under 'consumer electronics'. While doing so Ramit has performed a step in the process of one of the functions of management. Identify the step.
Ans. Departmentalisation (Explain)
Q.4 Which type of organisational structure is suitable for a large scale organisation having diversified activities requiring high degree of specialisation in operations?
Ans. Functional structure 
Q.5 Aradhana and Gandharv are heads of two different departments in "Yumco Ltd." They are efficient managers and are able to motivate the employees of their respective departments to improve performance. However, their drive to excel in their own sphere of activity instead of giving emphasis on objectives of the enterprise has hindered the interaction between the departments that Aradhana and Gandharv are heading. Often there are inter-departmental conflicts and they have become incompatible. This has proved to be harmful in the fulfilment of the organisational objectives. The situation has deteriorated to such an extent that the CEO of 'Yumco Ltd. has hired a consultant, Rashmi, to resolve the problem. After studying the situation closely, Rashmi found that the problem has arisen due to inflexibility and a narrow perspective on the part of both Aradhana and Gandharv. She is of the view that this situation is a result of the type of organisational structure "Yumco Ltd. has adopted. 
From the above information, identify the organisational structure adopted by 'Yumco Ltd.' and state any three advantages of the structure so identified.
Ans. Functional structure
Advantages: (Explain)
· Occupational specialisation
· Promotes control and coordination
· Increases managerial and operational efficiency
Q.6 "Himalaya Ltd., is engaged in manufacturing of washing machines. The target of the organisation is to manufacture 500 washing machines in a day. There is an occupational specialisation in the organisation which promotes efficiency of employees. There is no duplication of efforts in such type of organization structure. 
Identify the type of organisation structure described above.
Ans. Functional structure
Q.7 A company has been registered under the Companies Act with an authorised share capital of Rs 20,000 crore. Its registered office is situated in Delhi and manufacturing unit in a backward district of Rajasthan. Its marketing department is situated in Bhopal. The company is manufacturing Fast Moving Consumer Goods (FMCG). Which type of organisational structure would suit the requirements of the company? 
Ans. Divisional structure
Q.8 Kiran Industries is a company manufacturing office furniture. The company chose to diversify its operations to improve its growth potential and increase market share. As the project was important many alternatives were generated for the purpose and were thoroughly discussed amongst the members of the organisation. After evaluating the various alternatives Sukhvinder, the Managing Director of the company decided that they should add 'Home Interiors and Furnishings' as a new line of business activity. 
(a) Name the framework, which the diversified organisation should adopt, to enable it to cope with the emerging complexity? Give one reason in support of your answer.
(b) State any two limitations of this framework.
Ans. (a) Divisional structure
(b) Limitations: (Explain)
· Conflict
· Increase in costs
Q.9 Shan Spices Ltd. are the manufacturer of different food specific spices like Rajma Masala, Cholley Masala Aaloo Parantha Masala etc. Mr. Raghav, the owner of the company has created different departments for purchase, production, marketing, finance and human resource. There are thirty employees working in the organisation. Planning is of paramount importance to the company as Mr. Raghav believes that effective planning leads to achievement of organisational objectives. So in order to make employees focus on objectives, he issued instructions that during working hours only official matters will be discussed. He made certain rules and code of conduct for the employees to follow, according to which employees are not allowed to visit and talk to the employees of other departments except for official work. He emphasised on work performance which resulted in smooth functioning of the organisation.
(i) Identify and state the type of organisation mentioned in the above para.
(ii) State one feature of the concept identified in part (1) as mentioned in the above para.
(iii) What was the purpose behind the formulation of rules for the employees that restricted their personal communication with the employees of other departments?
Ans. (i) Formal organisation (give meaning)
(ii) Focus on objective and work performance
(iii) Avoidance of the emergence of informal organisation which may obstruct the fulfilment of organisational goals.
Q.10 AVM Ltd. set-up its electric appliances manufacturing factory in a backward area of Himachal Pradesh where subsidies are provided by the government and labour is available at cheaper rates.
AVM Ltd, was able to produce its products at low cost thereby generating enough profits in the first year itself. It was because of the fact that the limits of authority and responsibility of the employees were clearly defined and the activities of various departments were coordinated and integrated. The Production Manager of the company also came to know about the availability of raw material at cheaper rates from a vendor. For this he wrote a letter to the Managing Director of the company for getting sanction. But because of procedural delays in getting this sanction and procuring funds from the Finance Manger, the order could not be placed.
(a) Identify the type of organization that led to procedural delays and because of which the company could not get the advantage of procuring raw material at cheaper rates. 
(b) State any above case. three of the type of organization identified in (a) above other than those discussed in the above case.
Ans. (a) Formal Organisation
(b) Advantage of formal organisation:
(i) It helps to maintain unity of command through an established chain of command. 
(ii) It leads to effective accomplishment of goals by ensuring that each employee knows the role he has to play.
(iii) It provides stability to the organization as behaviour of employees can be fairly predicted. 
Q.11 Steelo Ltd.' decided to set-up its steel manufacturing factory in the backward area of Odisha where very less job opportunities were available. People of that area welcomed this effort of 'Steelo Ltd. To attract people to work in its factory it also decided to provide many other facilities like school, hospital, market etc. in the factory premises.
'Steelo Ltd.' started earning huge profits. Another competing company asked its production manager Aslam' to investigate the reasons of earning huge profits by 'Steelo Ltd.'
Aslam found that in both the companies there was systematic co-ordination among the various activities to achieve organisational goals. Every employee knew who was responsible and accountable to whom. The only difference was that in his organisation communication took place only through the scalar chain were as 'Steelo Ltd.' was allowing flow of communication in all the directions as per the requirement which lead to faster spread of information as well as quick feedback.
(a) Identify and state the type of organisation which permits 'Steelo Ltd.' the flow of communication in all the directions. 
(b) State another advantage of the type of organisation identified in (a) above. 
Ans. (a) Informal organisation (Explain)
(b) It helps to fulfil the social needs of the members. This enhances their job satisfaction since it gives them a sense of belongingness in the organisation.
Q.12 Progress Ltd. is facing difficulties in introduction of machinery of latest technology as they are facing resistance from the informal groups who are pressurizing the members to work against organisational interests. As the Human Resources manager of the company would you advise the management of the company to confront them or give them some other suggestion to deal with the informal groups. 
Ans. (a) It would be in the best interest of the organisation if the existence of such groups is recognised and the roles that their members play are identified. 
(b) The knowledge of such groups can be used to gather their support and consequently lead to improved organisational performance. Such groups can also provide useful communication channels.
(c) Instead of confronting them, the management should take skilfully take advantage of both formal and informal organisation so that work continues smoothly.
Q.13 Samir Gupta started a telecommunication company, 'Donira Ltd.' to manufacture economical mobile phones for the Indian rural market with 15 employees. The company did very well in its initial years. As the product was good and marketed well, the demand of its products went up. To increase production the company decided to recruit additional employees. Samir Gupta, who was earlier taking all the decisions for the company had to selectively disperse the authority. He believed that subordinates are competent, capable and resourceful and can assume responsibility for effective implementation of their decisions. This paid off and the company was not only able to increase its production but also expanded its product range. 
(a) Identify the concept used by Samir Gupta through which he was able to steer his company to greater heights.
(b) Also explain any three points of importance of this concept.
Ans. (a) Decentralisation 
(b) Importance of Decentralisation
· Relief to the top management
· Initiative amongst subordinates
· Talent for the future
Q.14 Aman Chadha started 'Bulls Eyes' a company for providing cyber security solutions to businesses. In objective is to prevent, detect and respond to cyber-attacks and protect critical data. He was hardworking software engineer and an expert in cyber security. His reputation grew by leaps and bounds as he was not only a person of integrity but also did his work with utmost honesty and sincerity. The business started growing day by day. He was delighted when he was offered a big project by the Ministry of Defence. While working on the project, he found that the volume of work made it impractical for him to handle all the work by himself. He decided to expand the team. The company maintained a close liaison with a local engineering college. During a campus placement, Ishan and Vrinda were appointed to work for the new projects.
He found the new employees capable, enthusiastic and trustworthy. Aman Chadha was thus, able to focus on objectives and with the help of Ishan and Vrinda, the project was completed on time. Not only this Aman Chadha was also able to extend his area of operations. On the other hand, Ishan and Vrinda also got opportunities to develop and exercise initiative. 
(i) Identify and briefly explain the concept used by Aman Chadha in the above case which helped him in focusing on objectives. 
(ii) Also, state any four points of importance of the concept identified in (i) above. 
Ans. (i) Delegation (Explain)
(ii) Importance of delegation of authority:
· Effective management 
· Employees development
· Motivation of employees
· Facilitation of growth
· Better coordination
Q.15 The manager of Sudha Industries is overburdened with routine work and is unable to concentrate on core issues of the company. The overcome this problem, he entrusted some of his responsibility and authority to his immediate subordinate to share some of his routine work. Which concept of management is used by the manager?
Ans. Delegation
Q.16 A company is manufacturing washing machines. There is a well defined system of jobs with a clear and definite authority, responsibility and accountability in the company. But people are not allowed to interact beyond their officially defined roles. As a result, the company is not able to adapt to the changing business environment. The workforce is also not motivated due to lack of social interaction. The company is facing problems of procedural delays and inadequate recognition to creative talents.
(i) Suggest how the organisation can overcome the problems faced by it.
(ii) Give any two benefits it will derive from your suggestion.
Ans. (i) Introduction of informal organisation
(ii) Two benefits the firm will derive are:
(a) Faster spread of communication and quick feedback
(b) It helps to fulfil the social needs of the members and enhances their job satisfaction.
Q.17 A truck manufacturing company has its registered office in Delhi and manufacturing unit in Chennai. The company manufactures different types of trucks. Its marketing division is located in Noida Suggest a suitable Organisational structure for this company giving reason in support of your answer. Also, explain any five advantages of this structure of Organising.
Ans. The company should adopt Functional Structure' since it manufactures trucks only (a single product). The company has separate departments like manufacturing unit (Chennai), marketing department (Noida), etc. That means, the size of the organisation is large, it has diversified activities and operations require a high degree of specialisation. So, it should adopt functional structure.
Explain the advantages of functional structure:
· Occupational specialisation
· Promotes control and coordination
· Increases managerial and operational efficiency
· Lower cost
· Makes training of employees easier
Q.18 Kavita Ghai was the Managing Director of a restaurant in Lucknow called 'Healthy Kitchen. The restaurant was doing well and the volume of work started increasing slowly and steadily. Kavita Ghai was not able to manage all the work on her own. The increasing magnitude of work made it impractical for her to handle it all by herself. Moreover, her objective is to open more branches of this restaurant at different places. She appointed Nikhil Gupta, as a General Manager of "Healthy Kitchen, Lucknow and gave him the right to command his subordinates and to take action within the scope of his position. For smooth running of the restaurant she also gave him authority to hire and train the staff as per the requirements. Kavita Ghai was satisfied with the work of Nikhil Gupta and was able to open other branches of the restaurant in Agra and Kanpur also. 
(a) Identify the concept followed by Kavita Ghai which helped her to open the new branches of the restaurant 
(b) Also, explain briefly the two points of importance of the concept identified in (a) above.
Ans. (a) Delegation of authority.
(b) Importance of Delegation of authority (any two)
(i) Effective management 
(ii) Motivation of employees
(iii) Employee development
(iv) Facilitation of growth
(v) Basis of management hierarchy
(vi) Better coordination.
Q.19 Alliance Ltd. is engaged in manufacturing plastic buckets. The objective of the company is to manufacture 100 buckets a day. To achieve this, the efforts of all departments are coordinated and interlinked and authority-responsibility relationship is established among various job positions. There is clarity on who is to report to whom. 
Name the function of management discussed above.
Ans. Organising.
Q.20 Explain when and why the need is felt for having a framework, within which managerial and operating tasks are performed to accomplish desired goals. Name this framework' also. 
Ans. Organisation structure is the framework within which managerial and operating tasks are performed. The need for an adequate organisation structure is felt when an enterprise grows in size or complexity. This is so because as an organisation grows, coordination becomes difficult due to the emergence of new functions or increase in number of products manufactured.
Q.21 Roasted Coffee Corporation is a coffeehouse chain operating in 7 states of India. Through its effective organisational structure, it has grown despite pressure from competitors in the national market. The company has a Purchase and Production department, Supply chain management and Logistics department. Brand management department and Sales department. This structure has facilitated operational efficiency, as employees became specialists within their own realm of expertise. They could be imparted specialised training as the focus was on limited range of skills.
Identify the organizational structure of Roasted Coffee Corporation. Also state the three advantages of this structure other than those discussed in the above paragraph.
Ans. Functional Structure
Three more advantages Roasted Coffee Corporation would be experiencing by deploying Functional structure:
(a) Occupational specialisation since emphasis is placed on specific functions.
(b) Control and coordination within a department because of similarity in the tasks being performed.
(c) Different functions would be getting due attention.
(d) Lower cost because of minimal duplication of effort.
Q.22 State the steps in the organising process.
Ans. Steps:
· Identification and division of work
· Departmentalisation
· Assignment of duties
· Establishing reporting relationship
Q.23 Explain the three essential elements of delegation.
Ans. Essential elements of delegation are:
· Authority
· Responsibility
· Accountability
Q.24 Distinguish between Formal and Informal organisation on the basis of the following:
(a) Origin
(b) Authority
(c) Leadership
Ans. Difference:
	Basis
	Formal organisation
	Informal organisation

	(a) Origin 
	It arises as a result of company rules and policies
	It arises as a result of social interaction among the employees

	(b) Authority
	Authority arises on the basis of position of management
	Authority arises on the basis of personal qualities.

	(c) Leadership
	Managers are leaders
	Leaders may or may not be managers. They are chosen by the groups.
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